Intro to Section 3.4 





Name:  __________________________
(Solving System of Equations in Three Variables)


Period: ________

SHOW YOUR WORK TO JUSTIFY YOUR ANSWER.

1.  What is the solution for the system of equations?             3a + 6b – 2c = -6

      2a + b + 4c = 19

      -5a – 2b + 8c = 62

      A.  (-1, -3, 6)

B.  (-4, 3, 6)

      C.  (0, 0, 3)                  D.  (4. -2, 3)

WORK:
2.  What is the solution for the system of equations?       5x + 3y +2z = 2







    
2x + y – z = 5








x + 4y +2z = 16

A. (-2, 5, -1)
B.  (4, 2, 2)

B.  (4, -6, 0)
D.(-2, 6, -3)
WORK:

3.  What is the solution for the system of equation?  
x + 2y – z = -1








2x + y + z = 7








3x + 3y  - 2z = 2

A. (-1, -5, 14)
B.  (7, 3, -10)

  C.  (5, 1, 8)

D.  (3. -1, 2)

WORK:

3. See if you can solve this system.
x + 2y = 12






3y – 4z = 25






x + 6y + z = 20

WORK:

